Title I Materials for Instruction- 2021/22

School: Buckingham Elementary School

Based on your Comprehensive Needs Assessment and in consultation with stakeholders the following recommendations are being made for spending our Title I funds:

Materials of Instruction

Request # (please place your requests in order of priority)	Resource Materials (please be specific about the number of items you want)	Planned Use and Connection to Your Comprehensive Needs Assessment- Please be specific- citing correlation with your Needs Assessment.	Itemized List of Spending (with shipping and handling)	Approved or Denied
1	Quarterly Academic RtI Meetings	Substitutes provided for teachers quarterly to have additional time beyond the regular PLC to complete and review detailed Plans for Success or related documentation for the Early Literacy Intervention (ELI) Grant. DIBELS data will also be examined promptly to begin early identification of students in need of support. The team will analyze individual student data and brainstorm actionable steps to help increase student success. This request supports the School Improvement portion of our Comprehensive Needs Assessment in the area of Academic Achievement: Literacy, and also Addressing Students not Making Progress.	2 substitutes per quarter (3 quarters) 6 subs x \$97= Total: \$582.00	
2	Fundations Student Materials	Fundations is an evidence-based phonics program implemented in Grades K-2. These consumable notebooks are utilized daily for students to practice their letter formation and encoding skills. Having the consumable books allows for the program to be	Fundations Materials Wilson- PO Kindergarten Student Consumable Packs (10/pk)	

		implemented with fidelity. Additionally, students in grades K-2 will utilize the same desk strip for their nametags. One pack of Grade 2 student durables is to replace attrition of materials. Dry erase markers are utilized daily for Fundations encoding practice in addition to mathematics practice and more. This supports our School Improvement in the area of Academic Achievement: Literacy and more.	\$96.30 x 9= \$866.70 Grade 1 Student Consumable Packs (10/pk) \$144.50 x 9= \$1,300.50 Fundations bags \$3 x 100= \$300 Grade 2 Student Consumable Packs (10/pk) \$144.50 x 9= \$1,300.50 3 Grade 2 Durable Packs \$452.60 x 2= \$905.20 Fundations Total= \$4,672.90 Shipping (8%)= \$373.83 Amazon Expo Dry Erase Fine Tip (36 pk) \$23.99 x 60= \$1,439.40 Total=\$6,486.13
3	Writer's Workshop Relaunch- Consumable Materials	In the past writing has been a strength for BES and WCPS. It is time for BES to relaunch and refresh Writer's Workshop. These tools are utilized daily for teaching,	School Specialty Composition Book \$1.64 x 185 = \$303.40

	Amarinas Da L'	modeling, writing, conferencing, editing, etc. This aligns to our Academic Achievement: Literacy SIP Plan.	Black Bic pens (240) \$21.97 x 4 = \$87.88 Amazon Post-it Paper (Pack of 2) \$37.89 x 30= \$1,136.70 Flair Pens (Pack of 36) \$29.92 x 8= \$239.36 Green Bic pens for K-2 (2 doz) \$6.99 x 13 = \$90.87 StoreSmart Plastic Archival Folders (Pack of 150 for K-2) \$289.99 x 2= \$579.98 Gr 2 Tiny Topics Notepad (10 pack) \$11.87 x9= \$106.83 Index Cards, Neon 3x5 (300 ct) \$3.44 x 35= \$120.40 Total=\$2,665.42
4	American Reading Company Consumable Materials	Home reading is one-third of the ARC pillars for independent reading. Reading bags are used daily and need to be replenished. These folders are used to organize supplemental materials that support each students' Power Goal, including the ARC Skill Cards, power words, etc. These folders	American Reading Company Reading Bags (pack of 15) \$75.00 x 13= \$975 Folders:

		also celebrate and recognize student achievement for every hundred "steps" of reading. This supports our School Improvement in the area of Academic Achievement: Literacy.	Blue (15) \$15.00 x 10= \$150.00 Red \$15.00 x 19= \$285.00 Green \$15.00 x 13= \$195.00 Yellow \$15.00 x 15= \$225.00 Total = \$1,830.00	
5	UbD Class Sets of texts	Many of our UbD texts are read aloud by the teacher. Class sets of selected copies are needed in students' hands for engagement, fluency practice, citing text evidence, close reading, and formal assessment crafted during PLCs with the Literacy Instructional Coach. This aligns to our Academic Achievement: Literacy SIP Plan.	Kindergarten Gr. 1- Julius: The Baby of the World Scholastic FACE \$3.40 x 100= \$340.00 Lilly's Purple Plastic Purse Scholastic FACE \$2.00 x 100= \$200	
			Gr. 2- Animals In the City Scholastic FACE \$2.82 x 100= \$282.00	
			Gr. 3- None Gr. 4 Scholastic FACE Edward Tulane \$5.60 x 100=	

			### Matilda \$3.98 x 100= \$398.00 Total= \$1,182.00
6	Origo Math Student Journals	This colorful resource is an important component of our core Mathematics program, Origo. This aligns to our Academic Achievement: Mathematics School Improvement Plan (SIP) to improve numeracy and also supports Tier 1 Math instruction.	K-2 Origo workbooks Origo Number Cases for Grade 1-3 Shipping Invoice Total= \$8,050.02 Total=\$4,788.20
7	Whiteboards with Grid on back for Multiplication Arrays	Students in Grades 3 and 4 practice computation regularly with dry erase boards. These particular boards also include a grid to use for array and multiplication practice. This focus on Numbers and Operations aligns to our Academic Achievement: Mathematics SIP Plan.	Grades 3 & 4 MyWhiteboard.com \$5.24 x 195= \$1,021.80 Shipping= \$63.42 Total= \$1,085.22
8	Magnetic Dry Erasers	Students in Grades PK-2 use dry erase boards regularly for Fundations and math instruction. Students in Grades 3 and 4 practice computation regularly with dry erase boards. These tools support Academic Achievement: Literacy and Math SIP Plans.	Amazon-40 pk \$11.99 x 30 Total= \$359.70
9	Material Attrition in School Inventory- Math	These materials are components of our Tier 1 instruction that need to be restocked due to attrition, additional classrooms, changing from departmentalization, etc. These align to our Academic Achievement: Math SIP Plan.	Amazon Hand2mind Safe-T Ruler (24) \$19.23 x 10= \$192.30 10 sided dice (50 pcs)

			\$10.75 x 4= \$43.00
			Base ten thousands cube \$5.99 x 20= \$119.80
			Desk strip number lines 0-20- Desk Tape (36) \$8.29 x 3= \$24.87
			Didax Giant Two- color Counters \$13.97
			EAI Foam Base Ten Blocks \$10.95 x 2= \$21.90
			Magnetic Rainbow Fraction Tiles \$12.99 x 3= \$38.97
			EAI Education-
			Pattern Block Dice \$4.49
			Magnetic Demonstration Open Number Line \$24.95
			1-20 Number Path \$8.79
			Numerical Fluency Boards (10) \$13.95 x 2= \$27.90
			Total= \$520.94
10	Additional Technology Components	These items will maximize the use of technology in the classroom and enhance our new technology.	Amazon Simple Headphones
		Some materials purchased in the past need to be replaced due to daily usage. These materials	for Kindergarten- Kaysent Heavy Duty (10)

		support classroom instruction and align to the Academic Achievement SIP Plans.	\$69.98 x 10= \$699.80 Adapter Extenders (Pack of 3) \$6.99 x 165= \$1,153.35 Charging Stations for specials \$66.99 x 5= \$334.95 TotalMount Remote Holder for TVs \$9.99 x 30= \$299.70 Sound bars for Music, Gym, Media, Music/Movement \$199.95 x 4= \$799.80	
11	Replacing Student Math Manipulative Bags	Utilizing hands-on math manipulatives is important to develop mathematical conceptual understandings. Numbers and Operations	Total= \$3,287.60 EAI Magnetic 2- color Counters (200) \$13.95 x 7= \$97.65 Sunee 10 x 14 Mesh Zipper Bag (12) \$24.85 x 4 = \$99.40 Total= \$197.05	
12	PBIS Tier 1 Strategy Materials	Classroom break spots for self-regulation will be restocked and revamped. These items align to the Safety SIP Plan.	Assorted Classroom Break Spot Materials Refresh (Wishlist from School Counselor) Amazon \$1,064.61 Total= \$1,064.61	

Grand Tota	Grand Total: \$24,047.72							
Pri	ncipal Signa	ture D	 Oate					
Appi	roved	Not Approv	zed					
1100	ioved	r (ot rippro	, cu	Title I Grant Manager	Date			
				Title I Coordinator	Date	e		